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# [3; 2; 1] ;;
- : int list = [3; 2; 1]
# true :: [false; true] ;;

- : bool list = [true; false; truel
# ("January", 1) :: ("February", 2) :: [] ;;
- : (string * int) list =

[("January", 1); ("February", 2)]
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- : ’a list = []
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(x contain_zero : int list -> bool *)
let contain_zero 1lst = false
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WENZHET DB contain_zero ZEHET Lo
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(x TAB %)

let testl = contain_zero [] = false
let test2 = contain_zero [0; 1; 2; 3] = true

let test3 = contain_zero [1; 2; 0; 3] = true

let test4 = contain_zero [1; 2; 3; 4] = false
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WENZHET DB contain_zero ZEHET Lo
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(*x contain_zero : int list -> bool x*)
let contain_zero 1lst = match 1lst with
[] -> false
| first :: rest -> false

[ &

BHDODI AN ZZFE 5. ZDFIC0NEENT
WENZHET DB contain_zero ZEHET Lo
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(x B RITE-ZURARKIC 0 BB 2D ZFHNS %)
(*x contain_zero : int list -> bool x*)
let contain_zero 1lst = match 1lst with
[] -> false
| first :: rest ->
if first = O then true
else false (x 77?7 x)
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WENZHET DB contain_zero ZEHET Lo
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(*x contain_zero : int list -> bool x*)
let rec contain_zero 1lst = match 1lst with
[] -> false
| first :: rest ->
if first = O then true
else contain_zero rest
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WENZHET DB contain_zero ZEHET Lo
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# #use "contain_zero.ml" ;;
val contain_zero :

val testl
val test2
val test3
val test4d

[ &

: bool
: bool
: bool
: bool

int list -> bool = <fun>
true
true
true
true
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(* sum : int list -> int *)
let rec sum 1st = 0
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let testl = sum [] =0

let test2 = sum [7] =7

let test3 = sum [3; 2] =5

let test4 = sum [1; 2; 3; 4; 5; 6; 7; 8] = 36
Gz

BHOIVAMNZZITE 5. 208521 RITEI
sum = E&x T Lo
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(x B BHOD VAN ZRITH L5 G5 ZIRT *)
(¥ sum : int list -> int x*)
let rec sum lst = match 1lst with
0 >0
| first :: rest -> 0 (* sum rest *)
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(x B BHDO VAN ZRITR L5 G5 ZIRT *)
(¥ sum : int list -> int x*)
let rec sum lst = match 1lst with
J->0
| first :: rest -> first + sum rest
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# #use "sum.ml" ;;

val sum : int list -> int = <fun>
val testl : bool = true

val test2 : bool = true

val test3 : bool = true

val test4 : bool = true
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(x B BHEOY AN EZZITR 585 ZIRT *)

(* sum : int list -> int *)
let rec sum 1lst = match 1lst with

1 >0
| first :: rest -> first + sum rest
sum [1; 2; 3] =1 + sum [2; 3]

=1+ (2 + sum [3])
=1+ (2 + (3 + sum []))
=1+ (2+ (3+0))
=1+ (2 +3)
=1+5
=6
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(* sum : int list -> int *)
let rec sum 1lst = match 1lst with

1 >0
| first :: rest -> first + sum rest
sum [1; 2; 3] =1 + sum [2; 3]

=1+ (2 + sum [3])
=1+ (2 + (3 + sum []))
=1+ (2+ (3+0))
=1+ (2 + 3)
=1+ 5
=6
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